ODD ONE OUT

There are 3 As, two of which are Bs.

There are three As, but whereas one of them is B, the other two are Cs.

1 dog tiger cat 30 English Japanese Chinese
2 China Japan Spain 31 5 7 9

3 Merkel Macron Abe 32 rain fog snow
4 table chair sofa 33 box drawer shelf
5 Hong Kong Xian Katmandu 34 toe finger thumb
6 mouse rat elephant 35 party wedding funeral
7 Ferrari G80 Porsche 911 Ford Fiesta 36 purse suitcase wallet
8 plane helicopter glider 37 noodles rice prawns
9 tanker yacht liner 38 piano flute trumpet
10 salt pepper mustard 39 chicken duck eagle
11 second kilometer hour 40 NASA UNO UNICEF
12 orange banana carrot 41 biology physics history
13 apple pear grape 42 Fuzhou Dalian Chengdu
14 fridge freezer microwave 43 scissors paste knife
15 wall roof table 44 square triangle circle
16 fax machine computer toaster 45 Sun moon CA(::‘lrF\)tg?J f
17 book magazine CD 46 hurricane tornado tsunami
18 India China Luxembourg 47 knife fork plate
19 sock shoe hat 48 leaf trunk root
20 beer wine water 49 bowl cup chopsticks
21 man woman boy 50 policeman fireman soldier
22 scooter motorbike bicycle 51 nurse porter doctor
23 pills ointment cough 52 paper card wood
24 pen pencil rubber 53 box drawer shelf
25 coal oil uranium 54 eye ear mouth
26 petrol diesel gas 55 climbing surfing walking
27 heat light magnetism 56 fridge freezer cupboard
28 butcher baker florist 57 Confucius Galileo Plato
29 lorry bus taxi 58 rod hook bait




